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R 1 6 #l ®=X HHER 2 1 34 2.31.650
2 7 KHE BRE BET®S/(OPEN) 1 2 21 2.32.680
3 5 ML #X BHER 2 3 13 2.34.770
4 1 =H &% BSTC 1 4 8 2.36.540
5 9 My EE AEHFFER 2 5 5 2.36.570
6 12 LA FEk HILFREARFER 1 6 3 2.39.330

TiE 7 15 HME F* BAMES/IER 3 2.40.640
8 13 E BK #5)1|SSAEEH] 3 2.43.540
9 2 PalEl BEZRL BSTC 3 2.47.110
10 11 RiIF @2 BEEEPFER 4 2.40.810
11 10 M5 &8k SBEHAFFER 4 2.45.420
12 16 KFEF B BAMESIWER 4 2.47.450
13 14 &L pE=t #5) 1SS EEH] 5 2.47.760
14 3 LA 873 Vortex 5 2.49.100
15 4 =t B Vortex 5 3.05.110
16 8 Kl [ [EESSMFEH] 6 3.13.210
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